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I.rhpahd tpiliaj; Njh;e;njLf;f.                              10x1=10 

1.ஆ஬ர்த்஡ண அட்ட஬ண஠஦ில் உள்ப த஡ொடர்கள்  ஥ற்றும் த஡ொகு஡ிகள் 
஋ண்஠ிக்ணக ___________ 

2.஢஬ணீ ஆ஬ர்த்஡ண ஬ி஡ி஦ின் அடிப்தணட _________ 

3.ஹேனஜன் குடும்தம் ஋ந்஡ த஡ொகு஡ிண஦ச் ஹேர்ந்஡து 

4.________ ஋ன்தது எப்திட்டு ஆ஬ர்த்஡ண தண்பு 

5.துரு஬ின் ஬ொய்ப்தொடு _________ 

6.அலு஥ிஹணொ த஬ப்த ஬ிணண஦ில், அலு஥ிணி஦த்஡ின் தங்கு _________ 

7.த஥ல்னி஦ தடன஥ொக துத்஡஢ொக தடிண஬, திந உஹனொகத்஡ின் ஥ீது ஌ற்தடுத்தும் 
஢ிகழ்வு _________ ஋ணப்தடும். 
8.கீழ்க்கண்ட ஥ந்஡ ஬ொப௅க்கபில், ஋து த஬பிப்புந ஆற்நல் ஥ட்டத்஡ில் 
இ஧ண்டு ஋னக்ட்஧ொன்கணபக் தகொண்டது. 
9.஢ி஦ொன் ஬ொப௅஬ின் ஋னக்ட்஧ொன் ஢ொட்டம் பூஜ்ஜி஦ம் ஆக கொ஧஠ம் _________ 

10.இ஧ேக்கனண஬ உரு஬ொக்கனில் ஹ஡ண஬ப்தடும் ப௃க்கி஦஥ொண உஹனொகம் 
_________ 

II. ககோடிட்ட இடங்களை நிரப்புக.                                                                                 10x1=10 

11.எரு ப௄னக்கூநில் இரு திண஠ப்புற்ந அணுக்கட்டு இணட஦ில் உள்ப 
஋னக்ட்஧ொன் க஬ர்ஆற்நல் ஬ித்஡ி஦ொேம் 1.7 க்கு ஹ஥ல் ஋ணில், திண஠ப்தின் 

இ஦ல்பு __________ ஆகும். 
12.஢஬ணீ ஆ஬ர்த்஡ண அட்ட஬ண஠஦ின் அடிப்தணட __________ ஆகும். 
13.஡ணி஥ ஬ரிணே அட்ட஬ண஠஦ில் ஥ிக ஢ீள் த஡ொடர் __________ ஆகும். 
14.Cl2 ப௄னக்கூநில் உள்ப ‘Cl’ அணுக்களுக்கு இணட஦ில் உள்ப தூ஧ம் 1.98 A0 
஋ணில் ‘Cl’ அணு஬ின் ஆ஧ம் __________ 

15.A- , A+ ஥ற்றும் A இ஬ற்நில் ஥ிகச்ேிந஦ உரு஬ அபவு உள்பது __________ 

16.஢஬ணீ ஆ஬ர்த்஡ண அட்ட஬ண஠ண஦ உரு஬ொக்கி஦ ஬ிஞ்ஞொணி஦ின் தத஦ர் 
__________ 

17.அ஦ணி ஆ஧ம், த஡ொடரில் __________ (குணநகின்நது, அ஡ிகரிக்கின்நது) 
18.__________ ஥ற்றும் __________ ஆணது உள் இணடத் ஡ணி஥ங்கள் ஋ணப்தடும். 
19.அலு஥ிணி஦த்஡ின் ப௃க்கி஦ ஡ொது __________ஆகும். 
20.துரு஬ின் ஹ஬஡ிப்தத஦ர் __________ ஆகும். 
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III. பபோருத்துக.                                                                                                                                5x1=5 

21.ப௃னொம் பூசு஡ல் - ஥ந்஡ ஬ொப௅க்கள் 

22கொற்நில்னொ ஬றுத்஡ல் - துத்஡஢ொகம் பூச்சு 

23.ஆக்ஸிஜஹணற்ந எடுக்க ஬ிணண  - ேில்஬ர் – டின் ஧ேக்கனண஬ 

24.தற்கு஫ி அணடத்஡ல் - அலு஥ிஹணொ த஬ப்த எடுக்க ஬ிணண 

25. 18 ஆம் த஡ொகு஡ி ஡ணி஥ங்கள் - கொற்நினொ சூழ்஢ிணன஦ில் சூஹடற்றும் ஢ிகழ்வு 

IV. சரியோ? தவறோ? (தவறு எனில் கூற்றிளன திருத்துக)                 2x1=2 

1. ஹ஥ொஸ்ஹன஬ின் ஡ணி஥ ஬ரிணே அட்ட஬ண஠ அணு஢ிணநண஦ச் ேொர்ந்஡து. 
2. இடப்புநத்஡ினிருந்து ஬னப்புநம் தேல்ணக஦ில், அ஦ணி ஆ஧஥ொணது, 

த஡ொடரில் அ஡ிகரிக்கும். 
IV.RUf;fkhd tpilasp:                                  4x2=8 

1. A ஋ன்தது தேம்தழுப்பு உஹனொகம். இது ‘O2’ உடன் ஬ிணணப௅ற்று < 1370 K 

த஬ப்த஢ிணன஦ில், B.஋ன்ந கருண஥஦ொண ஹேர்஥த்ண஡ உரு஬ொக்கும். > 

1370 K த஬ப்த஢ிணன஦ில் A ஦ொணது ேி஬ப்பு ஢ிந C ஍ உரு஬ொக்கும் ஋ணில் A,B,C 

஋ன்ணத஬ன்று ஬ிணணகளுடன் ஬ிபக்குக. 
2. A ஋ன்தது த஬ள்பி஦ின் த஬ண்ண஥ தகொண்ட உஹனொகம். A ஆணது ‘O2 

’ உடன் 800° C ஦ில் ஬ிணணபுரிந்து B ண஦ உரு஬ொக்கும். A ஦ின் உஹனொகக் 
கனண஬ ஬ி஥ொணத்஡ின் தொகங்கள் தேய்஦ப்த஦ன்தடும். A ஥ற்றும் B ஋ன்ண? 

3. துரு ஋ன்தது ஋ன்ண? துரு உரு஬ொகு஬஡ன் ே஥ன்தொட்ணட ஡ருக. 
4. இரும்பு துருதிடித்஡லுக்கொண இரு கொ஧஠ங்கணப ஡ருக. 
VII. விரிவோக விளடயைி.                                                                                                         3x5=15 

1. m. ghf;irl; jhJit J}a;ikahf;Fk; NghJ mjDld; Nrhbak; 
i`l;uhf;i]L fhuj;ij Nrh;g;gjd; fhuzk; vd;d? 
M. mYkpdh kw;Wk; fpiuNahiyl;Lld;> ,d;dk; xU nghUs;> 
kpd;gFspAld; Nrh;f;fg;gl;l mYkpdpak; gphpf;f cjTfpwJ. mJ vd;d? 
mjw;fhd fhuzk; vd;d? 

2. எரு உஹனொகம் A ஦ின் ஋னக்ட்஧ொன் ஆற்நல் ஥ட்டம் 2,8,18,1 ஆகும். A 

ஆணது ஈ஧க்கொற்றுடன் ஬ிணணபுரிந்து தச்ணே தடனத்ண஡ உரு஬ொக்கும். 
A அடர் H2SO4 உடன் ஬ிணணபுரிந்து C ஥ற்றும் D ஍ உரு஬ொக்கும் D ஦ொணது 
஬ொப௅஢ிணன ஹேர்஥ம் ஋ணில் A,B,C ஥ற்றும் D ஋ண஬? 

3. ஊது உணன஦ில் உருக்கிப்திரித்஡ணன ஬ி஬ரி. 
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SRI AMMAN TUTION CENTRE 

Class: 10
th

                                        Unit test-8                                  Marks: 50 

I. Choose the best answer.                                                                    10x1=10 

1. The number of periods and groups in the periodic table are______. 

2. The basis of modern periodic law is______. 

3. _____ group contains the member of halogen family. 

4. _____ is a relative periodic property 

5. Chemical formula of rust is ________. 

6. In the alumino thermic process the role of Al is _____. 

7. The process of coating the surface of metal with a thin layer of zinc is 

called______. 

8. Which of the following have inert gases 2 electrons in the outermost shell. 

9. Neon shows zero electron affinity due to _____. 

10. ______ is an important metal to form amalgam. 

II. Fill in the blanks                                                                             10x1=10 

1. If the electronegativity difference between two bonded atoms in a molecule 

is greater than 1.7, the nature of bonding is ______ 

2. ________ is the longest period in the periodical table. 

3. ________ forms the basis of modern periodic table. 

4. If the distance between two Cl atoms in Cl2 molecule is 1.98Å, then the radius of 

Cl atom is ________. 

5. Among the given species A–, A+, and A, the smallest one in size is ________. 

6. The scientist who propounded the modern periodic law is ________. 

7. Across the period, ionic radii ________ (increases,decreases). 

8. ________ and ________ are called inner transition elements. 

9. The chief ore of Aluminium is ________. 

10.The chemical name of rust is ________. 

III. Match the following                                                                       5x1=5 

1. Galvanisation - Noble gas elements 

2. Calcination - Coating with Zn 

3. Redox reaction - Silver-tin amalgam 

4. Dental filling - Alumino thermic process 

5. Group 18 elements - Heating in the absence of air 

 

IV. True or False: (If false give the correct statement)                   2x1=2 

1. Moseley’s periodic table is based on atomic mass. 

2. Ionic radius increases across the period from left to right. 
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VI. Short answer questions                                                                 4x2=8 

1. A is a reddish brown metal, which combines with O2 at < 1370 K gives B, a black 

coloured compound. At a temperature > 1370 K, A gives C which is red in colour. 

Find A,B and C with reaction. 

2. A is a silvery white metal. A combines with O2 to form B at 800o C, the alloy of A 

is used in making the aircraft. Find A and B 

3. What is rust? Give the equation for formation of rust. 

4. State two conditions necessary for rusting of iron. 

VII. Long answer questions                                                               3x5=15 

1. a) State the reason for addition of caustic alkali to bauxite ore during purification of 

bauxite. 

b) Along with cryolite and alumina, another substance is added to the electrolyte 

mixture. Name the substance and give one reason for the addition. 

2. The electronic configuration of metal A is 2,8,18,1. The metal A when exposed to 

air and moisture forms B a green layered compound. A with con. H2SO4 forms C and 

D along with water. D is a gaseous compound. Find A,B,C and D. 

3. Explain smelting process. 
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